1) Use >, < or = to compare the amount of each potion:

2)

562ml | <| 785ml

603ml | >| 360ml
L

4£13ml 431ml

242ml = | 242ml

349 102
Three hundred and forty-nine 9 hundreds and 2 ones 407
- 175 213
1 hundred, 7 tens and 4 ones 700+ 70+ 5 1 hundred, 11 tens and 3 ones
(oReAs=
. ﬁ |00 )
a) What is the greatest amount? °Z
b) What is the smallest amount? 174




1) Wizard Wanda is experimenting with exploding potions.

She uses 670 newt eyes and 410g of dragon scales in her first potion and it does nothing! ’
She knows she needs more of each of the ingredients for it to work.

She uses 720 newt eyes and 4509 of dragon scales in her next batch and the explosion is far too big!
She knows she has used too much of each ingredient.

a) Suggest how much of each ingredient she should try next.

Thanle s\ne sl showld wte 6904 natt eqeq and 130 4 of Avaqon
¥ - T Seolles,

b) Explain your reasoning:

6‘103 18 msle Than é%j (di dant k) nt (s than 1204 COKQ\»WV'{)
‘-FSoj'\s Mode Chan ‘(—(Og lout  (egs Cran 4‘-@3-

2) Read each statement and decide whether it is correct or incorrect. é
If it is incorrect, explain how you would correct it.

+ 516 > 498

Covied !

+ Eight hundred and sixty-three > eight hundred and ninety

nonedk | 9634 390

+ Three hundred and five < 299

Inorvect ! 305 > 249

« 473 = & hundreds, 7 tens and 3 ones

Corvet !




1) Anya has this sequence of numbers from smallest to greatest:

341 < 347 < 352 < < 355

Which of these numbers could be her missing number?

352 (353) 654) 355

Explain why: L cont e 357 a¢ M{ g c,;\UM( o 352 vnov tann h lne 355 an o € ea,(/a/_(
Sk Mmusk e 253 v A5 .
2) Here is an example of a statement comparing a sequence of numbers:

473 = 452 < 422 = 422 > 421

a) What could the missing numbers and signs be in this statement?

302 < 320 = [3720 | < |390| > 345

\ 2
b) Which boxes only have one possible correct answer?

Yox | becanve 302 s los fUuatu 420  annd gcsx 2 bewmse 37p 'eidoJJ 320/

555




1)

Order these numbers from greatest to smallest:

671 539 406 756 399 138 355

3% 355,599 ko6 537 (T[ J5¢

2) Use greater than, less than and equals signs to complete this statement correctly:
657 7 653 < 682 | — | six hundred and eighty-two > 680
1) Place the numbers in the correct order from smallest to greatest to read the answer
to the riddle: If you put me in a barrel, the barrel will get lighter. What am I1? 2/0
¢l
603 | 360 H H H 306 HH =
+ l N b[_‘ mmi Eht::- / ,‘ HH T HH ;!
- - - - - - =| - = E!
e g
L 0 E A H
(o ¢v3 loLE !
306 3, 0, (83 ¢ = A HOLE
2) Scott has ordered these numbers from greatest to smallest. He says he knows he's

correct because he has placed the numbers with the greatest digit sum first.
498 467 513 323 411

Explain his mistake to him. How should he fix it?

200

Scott needs ko nse Was place value l/-—v\ovdtuijc IS fud(M Nnumloeys

'|/\0an He gl/\uw\.n\ (pwpavl fia 100's ‘ b e (0 's and /Fi\/\al(q 2 (P
ovnes . Sotine ovdev shouwld be 513, LAy W61, wir 223, 200




